2019 St REWLXEZ (L) His

B F

ARG 4 T, 3150 700 HI K 120 pbhe BAESBEEREAELHR L, G LIEELH. Bk
Ha, KEBARLR, W& EITRE.

MR AROGEIE 10 N, RN S 7, 3650 2p, AERENESS I AODY SR, R T S H

(1) LR 2019 FER i — RARERE F B B2k, LS x AMET 90 720, CALRET v &1 375 70, AE
&1 2 i 35 7y, AAERARIR N

x =90 x =90 x> 90 x =90
(A {y > 375 (B) {y > 375 © {y > 375 (D) {y > 375

z > 35 z =35 z > 35 z>35
(2) #rfll “3a, be R,a? + b? < 2ab” T e
(A) Va,b € R, f#ia® + b? > 2ab (B)Va,b € R, f#ia? + b? < 2ab
(C) ¥a,b € R, f#ia%2 4+ b%2 > 2ab (D)Va,b € R, f#a? + b? < 2ab

(3) EAIEan i ay_3, Hay = ayqy +3(n € N™), W F AL ERHY R
(M) HiFl{an UL 3 B, 3 HAKEMNE R
(BYBF{an} bl 3 NI, — 3 KNS EHT
(O) KeFl{an U — 3 WE W, 3 HAKEMNH IR
(D)5 {an P -3 WE I, -3 FARM 42K
(4) HFHan i Bans, = =2 a, =2, Ma,MlEN
2 (B)Z ©2 OF
(5) CAI%Hm> 0, n>0, H—+2=3. 1l
(A) mn 7 BK A (B) mn A7 /M2
(C) mn A B (D) mn A7 B/IMZ

(6) B pix=%1, &M q:x3=x, W p & q WALAY

(A) FER AL ER AT (B) AT 5
(C) FEEM (D) BEATE AL EE A

(7) BH1a>0, —1<b<0, Mla, ab. ab?Z [A]IIK/NKFRLZ
(A) a>ab? > ab (B)a < ab <ab?
(C) ab> a >ab? (D) ab> ab? >a
(8) BHFIKT x E‘Jﬁ’%@fﬁ% > 0 MfASE{x|x < —1 3k x > 2}, WS E a BUE IS A

(A) {ala< 2} (B) {ala>=2}
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(C) {ala=2} (D) {ala> 2}

(9) FERFHN, SH_WMAART O

(A F—RIR (B)FE R
(C) FE=RR (D) FHIUZRIE

(10) KIS IAE LS BTN, FEM AW LER AR 0 AN H W B0 155 3R &s, O 14) b 2s, =
o= (2In=n? —5) (n=1,2, 3, -+, 12), WHZBLTRNE ALY, TREEL 15 AR O

(A 8H.9H (B)7 H. 8 H
(©6H.TH M 5H.6H
T B AL 6 /NEL ARG g, 3K 30 2

(1) SHCHT AN

(12) %%‘iﬁﬁﬂm AR S

(13) fES AN} H Fage2, as=, WAL o=

(14) FRLLZELL B A (e SC, 3RATTAT LA BISEARAB IR 58 3L AR — A ANER —00kS B — T 5 B B — T A e i
T AEEL AR BINMERES], ZAHE B ERBIIN L. G008 3, AR 6 EEREFIHHET 4
T 53 5 7 s ZEBIHT n DA Y

(15) 2R=1MA%E: Oc#0, @a>b, @§> D, DU EAMESAE, R FR—AMERGE, AR

=]
NEAN L
(16) B £ () =f () — (e N, H £(2)=2, W £(2019)=

=R, ARG 6 NE, HAdE (17) . (18) FEEHE 9 4y H (19) fH 104y 5 (20) . %
(21) f8. 55 (22) @, #8814 5y 3L 70 4.

A7 CANE T 9 73

O x€ R, I FUBAHE R S ARHE X —x+1 (RN

(18)  CA/INEH 73 993

v A bl A — BT T, RIS 58I 25 30 K, & KITES AT IA A>T 4000 1
TiAs MEXREH IS 58 20NN K
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(19)  CA/NEIHS> 10 53
EAIEH 7= (2+1) m2 -5 (i-1) (m€ R)
(1) HL 8 m P AER, Sz RAiEE?
(ID) 58 m WA BN, S8 2 5P AR N AT = WRR AP b2

(200 CAR/NEGH > 14 59

B Ha PNEZEHD, sy v Ean T n BURY,  Cs;=7, s15=75.
(D) K& B {a, B A 2 EHT n 5002430
(D) BT, AEE T n SR, KT,

(21)  CA/NEGHE Y 14 593

AN pr AMERSEE x, BRE y=ax®42x+ L FME R TR g1 KT x 7 FEx? —x+a=0 H SR, Wk p
5o 1 HRAH AU E A, SRS a I HUE L

(22)  CAV/INER 2 14 73D

S {a AT n BRI Ks,, Haj=a(a#3), apyq=s,t3", n€ N*,
(I) Bby=sy — 3", Kby b, bz A, FERHES b, }HEH A
(IT1) #Fape, =ap, RELE a FEUETEH
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